Tax Tables called  

“Tax Withholding Table – Single and Married” and

“Tax Withholding Table – Widow or Divorcee”

Use of the tax tables called  “Tax Withholding Table – Single and Married” and “Tax Withholding Table – Widow or Divorcee”:

The employer may use the tables called “Tax Withholding Table – Single and Married” and “Tax Withholding Table – Widow or Divorcee” in order to determine the amount of monthly income tax to deduct from the salaries, wages and allowances earned by an employee during a particular month.  The monthly tax table “Tax Withholding Table – Single and Married” covers the cases of single persons, married couples with no children and married couples with up to 12 children.  The monthly tax table “Tax Withholding Table – Widow or Divorcee” covers the case of widows, divorcees and widows or divorcees with up to 12 children.  The monthly tax tables take into consideration the legal allowances that a taxpayer may claim during a particular month.

According to the tax tables, there is a code allowance corresponding to the particular situation of each employee.  As stated below, the amount indicated in parenthesis is the legal allowance for the year divided by 12 months :

Tax Withholding Table – Single and Married 

0
=
Single person (ID 208,333)

00
=
Married couple (ID 375,000)

1
=
Married couple with one eligible child (ID 391,667)

2
=
Married couple with two eligible children (ID 408,333)

3
=
Married couple with three eligible children (ID 425,000)

4
=
Married couple with four eligible children (ID 441,667)

5
=
Married couple with five eligible children (ID 458,333)

6
=
Married couple with six eligible children (ID 475,000)

7
= 
Married couple with seven eligible children (ID 491,667)

8
=
Married couple with eight eligible children (ID 508,333)

9
=
Married couple with nine eligible children (ID 525,000)

10
=
Married couple with ten eligible children (ID 541,667)

11
=
Married couple with eleven eligible children (ID 558,333)

12
=
Married couple with twelve eligible children (ID 575,000)

Tax Withholding Table – Widow or Divorcee

W
=
Widow or Divorcee (ID 266,667)

W1
=
Widow or Divorcee with one eligible child (ID 283,333)

W2
=
Widow or Divorcee with two eligible children (ID 300,000)

W3
=
Widow or Divorcee with three eligible children (ID 316,667)

W4
=
Widow or Divorcee with four eligible children (ID 333,333)

W5
=
Widow or Divorcee with five eligible children (ID 350,000)

W6
=
Widow or Divorcee with six eligible children (ID 366,667)

W7
=
Widow or Divorcee with seven eligible children (ID 383,333)

W8
=
Widow or Divorcee with eight eligible children (ID 400,000)

W9
=
Widow or Divorcee with nine eligible children (ID 416,667)

W10
=
Widow or Divorcee with ten eligible children (ID 433,333)

W11
=
Widow or Divorcee with eleven eligible children (ID 450,000)

W12
=
Widow or Divorcee with twelve eligible children (ID 466,667)

Examples of using the tax tables :

First example :

A single employee has worked for you, his employer, since the beginning of year 2004.  His annual salary is ID 8,400,000.  You want to determine his monthly tax deduction.  

Firstly, you determine what is the monthly salary of your employee.  In this case, it is ID 700,000 per month (ID 8,400,000 / 12 months). 

Secondly, you determine the applicable code allowance, which, in this case, is the number 0.

Thirdly, under the column “Taxable income per month (before any applicable legal allowance)” of the tax table called “Tax Withholding Table – Single and Married”, you determine the taxable income per month bracket attributable to this employee; in this case, the bracket would be ID 700,000 to ID 709,999.

Lastly, the number, ID 67,833, that corresponds in the column 0 with the taxable income per month of ID 700,000 to ID 709,999 is the amount of tax to withhold for this employee.

Second example :

The employee as discussed above in the first example gets married in September 2004.  The month after the marriage, he may claim a new code allowance number 00.  Accordingly, since October 2004, the amount of monthly tax to withhold is ID 42,833.

Third example :

An employee is married for many years and he has five children aged less than 18 years.  His annual salary is ID 6,072,000.  You want to establish the monthly tax to deduct from his monthly pay.

Firstly, you determine what is the monthly salary of your employee.  In this case, it is ID 506,000 per month (ID 6,072,000 / 12 months). 

Secondly, you determine the applicable code allowance, which, in this case, is the number 5.

Thirdly, under the column “Taxable income per month (before any applicable legal allowance)” of the tax table called “Tax Withholding Table – Single and Married”, you determine the taxable income per month bracket attributable to this employee, in this case, the bracket would be ID 500,000 to ID 509,999.

Lastly, the number, ID 2,167, that corresponds in the column 5 with the taxable income per month of ID 500,000 to ID 509,999 is the amount of tax to withhold for a particular month for this employee.

Fourth example :

The employee as discussed above in the third example has a new child in July 2004.  The month after this birth, he may claim a new code allowance, number 6.  Accordingly, since August 2004, the amount of monthly tax to withhold is ID 1,083.







Fifth example :

A child of the employee,  discussed above in the third and fourth examples dies in October 2004. .  The month after this child’s death, he may claim a new code allowance, which is number 5.  This is a reduction from number 6, see the fourth example.  Accordingly, since November 2004, the amount of monthly tax to withhold is ID 2,167.

Sixth example :

A widow employee has worked for you, her employer, since the beginning of year 2004.  Her annual salary is ID 4,164,000.  She has two children aged less than 18 years.  You want to determine her monthly tax deduction.  

Firstly, you determine what is the monthly salary of your employee.  In this case, it is ID 347,000 per month (ID 4,164,000 / 12 months). 

Secondly, you determine the applicable code allowance, which, in this case, is the number W2.

Thirdly, under the column “Taxable income per month (before any applicable legal allowance)” of the tax table called “Tax Withholding Table – Widow or Divorcee”, you determine the taxable income per month bracket attributable to this employee; in this case, the bracket would be ID 340,000 to ID 349,999.

Lastly, the number, ID 2,000, that corresponds in the column W2 with the taxable income per month of ID 340,000 to ID 349,999 is the amount of tax to withhold for this employee.

Use of a work chart :

For any other cases not covered by the tax tables called “Tax Withholding Table – Single and Married” and Tax Withholding Table – Widow or Divorcee”, the employer has to calculate the monthly income tax deduction by himself.  For this purpose, a work chart is provided in the free brochure named “Employer’s manual for tax by direct deduction method” in order to help him to determine the amount of tax to withhold on a monthly basis. 

Publication Date: April 2004
